Name

l. Wha! is the value of the 6xpr6_§§ion 2. The number thal is being mulliplied
below when z =77 10 the variable is called whal?

3z -3

3. Which expression is eq uivalent 4. Nelch the words below with ihe

lo yless than 3 limes 5'7 correct parl of the expression.
3n+4-8

A. Y-3+0

B. y-3)+9

C. 3.0y -

D. 3(0—-y) Varigble Coefficient Term  Conslant

5. Find Ihe value of lhe expression | 6. Choose Ihe correct value of the

v+ 2.6 whenv=2.0. expression 24 = v + K whenv =3
and k = 2.
24
A=
B. 20
C. 1D

D. I8




]. Solve Ihe [ Bﬁéu}ng expression
whena=3 andb = 2.

oa* - I0b + 9b

8 Wrile 'an expression 1o represent
Ihe foliowing:

“Five more than the product of 9 and
a number u.

"_q_. Which expression is
eq,uivalen! 1o the expression
4(x + 2y)7

A. 4x + 8y
B. 4x + 2y
C. X+ 8y
D. 8xy

BuWrile a word phrase for the
expression 16 « (x + 4).

It 8. Which verbal expression bes!

represents the algebraic expression
3n - 47

A. Three less than four limes a number

B. Four less than ihree limes a number

C. Three limes four sublracled from a number.
D. Four limes Ihe difference of a number and
lhree

12.Which expression is
eq uivalent 1o 8(d + )7

A. 5d + 9
B. Od + |
C. d+D
D. 4+ 6




13Wrile an equivdent expression for 1‘{_.3- Wrile an equivalent

e RONGIICE expression to 3(4h + 2K).
3(6m) + M
i6.8. Expoqd and simplify the \L.&. Which gxpression iS
AR BEIO0 gq,uivalent 1o 8X - 2y + X + X7
5(m + 2) + 9(n + 4)

A. 4x
B. 8X
\ C. 6x—2y
ID. 10x-2y

|

T. Wike o deBN¥on in oo OwWn WofdS
A LUSt Noor
fo e Sy s
O \00\E !
. Consromt:

e HEFT

o« Corfgreient:

o To0Mm:

VEXQ{E SN *






